Oct. 7, Fri.

In Text, readings 3C (pp. 34-36).

In Grammar, learn the type 3a noun Awunv (66, p. 54), the personal pronouns (68, p. 57),
and the demonstrative adjective ovtog (69, pp. 60-61). Accents not required.

Oct. 10: Fall break

Oct. 12, Wed.

In Text, reading 3D (p. 36-38)

In Grammar, learn the demonstrative adjective ¢kxetvog (69, p. 61) and the adjective

ToAVG (73, p. 63).

= Quiz on meaning and conjugation (with accents and breathings) of all verbs
learned so far in the vocabulary. Be able to give middle forms for verbs given

in the active form:

axkovw (+ axovouat etc.)
avaPatvw
AVoXwEEw
AToOVI)OKW
ATI0QEW
ATIOXWEEW
adpkvéopat
Batvw
PAETW
PonOéw
dnAdw
TN

et
EAev0eQow
E0WTAW
Exw
yiyvouat
YLYV@OOK®
dLépxouat
EuPatvew
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ETéQxopat
goxopat
gvxopaL
Ntéw
novxalw
Oedopat
Ovw
KkaOevdw
KaAéw
kataBaivw
KeAevw
AappBavew
Aéyw
uavOoavw
Hdxopot
HEVW
VIKAQ

oldx

004w
mtaxlCw



U T oCw

TAéw TOAHAW
TIOLEW TOEXW
mtogevouaL datvopat
TIQOOEQXOMOL devyw
olmtw dopéopat
OLWTAW doovTiCw
OKOTIEW XWOEw
OTéVOW

oTeELdW

Oct. 14, Fri.
In text, reading 3E (p. 39)

In Grammar, learn the adjective uéyac (73, p. 63) and the irregular nouns Ze0¢ and vaog
(74, p. 64).

In Revision Exercises for 3A-B, be able to recite Exercise A (Vocabulary-Building) (p. 59)
Write out to hand in Exercise B (Word Shape, 3 parts) (p. 68) and Test Exercise Three C-
E (p. 69).

Oct. 17, Mon.

In Text, readings 4 A and B.
In Grammar, learn noun types 3b (77, p. 70), 3c (78, p. 71), and 3e (79, p. 71).
Yes, we're skipping the rare 3f (80, p. 72), but have a close look at it
Write out to hand in (without accents) the declensions of these 3a nouns from the
vocabulary:

Singular:

Nom. yvvr] (yvvaik-) O1)TwQ (QNTOQ-) datpwv (datpov-)
Acc.

Gen.

Dat.

Nom.

Acc.

Gen.

Dat. yuvaui&i orTopaot dalpoot (datpov + ot)
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Questions on readings:

p- 42 1-2 mAéa yoo Patvetal ta Telxn. = T Y teixn palvetal mAéa.
Why the singular verb with a plural subject?
What would ¢paivetat yoo ta mAéa telxn. mean?

1. 29 ITepuwcAéa altiov vopiCw. Indirect statement.

Direct statement: aitiog 6 ITegiukAng. = 0 ITepucAnc éotwv altiog. = 0 ITepkAng
datvetal pot attioc. The link verb (or verb of being) links nominative (subject) to
nominative (predicate noun or adjective). Link verbs = eiui, yiyvouat, ¢patvopat.

What happens to case in the construction “I believe [say, claim, hear, etc.]
x to be y”?
“Do you believe me to be him?”

A parallel construction: kaxodatpovag vouilw tovg yYewQyouvg.

Oct. 19, Wed.

In Grammar, in Revision Exercises for Section 4A-B, be able to recite Exercise A
(Vocabulary Building) (p. 80) and write out Test Exercise Four A-B (p. 81).
Learn adjectives in —wv/ —ov (82, p. 73) and indefinite tic Tt (83, p. 74).

= Quiz on forms on 3a nouns and forms in #68, #69, #73, and #74. Accents not
required.
Of 3anouns, you are responsible for Awurjv,
avno (&vop- [avdodot])
VN - &vda - AvdQOG - AvdoL
AVOQEG - AVOQAG - AVORWYV - AVOQAOL
veltwv (yertov- [yeltoot]);
veltwv - yeltova - yeltovog - yeltovt -
Ye(ToVEG - Yeltovag - YELTOVQWYV - Yeltoot
Aaumag (Aapmad- [Aapumaot]);
AQUTIAG - AapTAdA - AApUTTAdOG - AAUTTAOL -
AaUTIAdES - AAUTIADAG - AAUTIAdWYV - AAUTIAOL
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vOE (VukT- [VOEL));
VvOE - VOKTA - VUKTOG - VUKTL -
VUKTEG - VOKTAS — VUKTQV - VOEL
g (mad- [maoi]);
TALG — ALK - TTADOG - Tt LdL
MAOES — TAOAG — TTALOWV - TTALTL

Oct. 21, Fri.
In Text, readings 4 C and D (pp. 48-52).
Identify enclitics in C (sheet will be distributed; circle enclitics and hand in).

Oct. 24, Mon.
In Grammar, in Revision Exercises for Section 4C-D, write out Test Exercise Four C-D
(pp- 90-91).
->Microquiz on 3b, 3¢, and 3e nouns (not 3f [#80 &aotv]). Accents not required.
For 3b: just To moaypa; for 3¢, just T0 mANOog; for 3e: 1) MOALG; 1] oikNOLG; 1)
talig (all the same) and 6 mEéoPug.

Oct. 26, Wed.
> Test on Section Four, plus the Test Exercises on pp. 69, 81, and 91:

>translation: vocabulary provided, unless the word has shown up since in
“Vocabulary to be Learnt.” You are responsible for recognizing participles
formed from verbs that you know. The active participles are declined like @v,
ovoa, Ov (#87, p. 77); the middle is -pevog, -pévn, -pevov.

A prototype exam will be distributed.
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